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There are many researches for generating programming practice problems to reduce burden of instructors or to

improve learning effects for learners in programming courses. But many of them are methods that learners do not

write codes, for example filling form and selection. So we think that it is unsuitable for improvement of practical

programming ability. In this research, we focused on practical use of online judge system as learning method that

learners write code to solve problems, and we aim to generate problems for online judge system automatically. In

this paper, we proposed a method for generating problems for online judge system automatically by using math word

problem.
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1 Shawna bought stamps at the post office. Some of the stamps had a snowflake 11+8=19
design,some had a truck design,and some had a rose design. Shawna bought 11 19-7=12
snowflake stamps. She bought 8 more truck stamps than snowflake stamps,and 7 fewer | 11+19+12=42
rose stamps than truck stamps. How many stamps did Shawna buy in all?
2 Tatsu wants to ride the bumper cars 3 times and the Ferris wheel 4 times. It costs 1 3*1=3
ticket to ride the bumper cars and 2 tickets to ride the Ferris wheel. How many tickets 4%2=8
does Tatsu need? 3+8=11
3 16 students and 6 teachers went on a field trip to an art museum. Student tickets cost $5 | 16*5=80
each,and adult tickets cost $8 each. How much did the museum tickets cost in all? 6*%8=48
80+48=128
4 Scarlett always takes the same route when she walks her dog. First,she walks 8 blocks | 8+6+10=24
to the park. Then she walks 6 blocks to the elementary school. Finally,she walks 10 2*%24=48
blocks to get back home. Scarlett walks her dog 2 times each day. How many blocks
does Scarlett's dog walk each day?
5 Owen had 12 toy cars. Then he bought 14 cars from the toy store and got 4 cars for his | 12+14+4=30
birthday. Owen gave 5 of the toy cars to his sister and 19 to his friend Abby. How many | 5+19=24
toy cars does Owen have left? 30-24=6
6 The baseball coach bought 2 new baseballs for $2 each. The basketball coach bought 9 | 2#2=4
new basketballs for $7 each. How much more did the basketball coach spend than the 9*7=63
baseball coach? 63-4=59
7 The adventure club went on a hike to see a waterfall. To get to the hike, the club 3*%5=15
members took 3 cars and 3 vans. There were 5 people in each car and 4 people in each | 3%¥4=12
van. How many people went on the hike? 15+12=17
8 Damon can buy bottles of water in packages of 6 for $12.36 or in packages of 4 for 36/6=6
$9.80. How much money does he save by buying 36 bottles of water at the better price? | 6%12.36=74.16
36/4=9
9%9.80=88.20
88.20-74.16=14.04
9 Mario and Anne order pasta for $9.50,salad for $4.65,and 2 glasses of lemonade for 9.50+4.65+2.00+2.00=18.15
$2.00 each. The tax is $1.45. How much change should they get from $20.00? 18.15+1.45=19.60
20.00-19.60=0.40
10 William bought 7 packages of cat food and 2 packages of dog food. Each package of 7*7=49
cat food contained 7 cans,and each package of dog food contained 2 cans. How many 2%2=4
more cans of cat food than dog food did William buy? 49-4=45
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Shawna bought stamps at the post | NO+N1=T0 input - {N0:9} {N1:5},{N2:2} output - 35 | fEFH[
office Some of the stamps had a TO-N2=T1 input - {NO:9} {N1:8},{N2:9} ,output - 34
snowflake design some had a truck | NO+TO+T1=T2 input - {NO:3} ,{N1:5},{N2:9} ,output - 10
design and some had a rose design input - {NO:2} {N1:2} {N2:6} output - 4
Shawna bought NO snowflake input - {NO:9} {N1:4},{N2:9} ,output - 26
stamps She bought N1 more truck
stamps than snowflake stamps and
N2 fewer rose stamps than truck
stamps How many stamps did
Shawna buy in all?
Tatsu wants to ride the bumper cars | NO*N2=T0 input - {NO:7} {N1:8},{N2:3} {N3:9} ,output TR A3
NO times and the Ferris wheel N1 N1*N3=T1 -79 RFIZTOD
times It costs N2 ticket to ride the NO+T1=T2 input - {NO:8} {N1:8},{N2:3} {N3:8} ,output flilz 7 %
bumper cars and N3 tickets to ride -72
the Ferris wheel How many tickets input - {NO:9} ,{N1:3} {N2:9} {N3:4} output
does Tatsu need? -21
input - {NO:1},{N1:2} {N2:6} ,{N3:2} output
-5
input - {NO:9} {N1:6},{N2:8} {N3:6} ,output
- 45
NO students and N1 teachers went NO*N2=T0 input - {NO:4} {N1:6},{N2:7}, Al
on a field trip to an art museum. N1*N3=T1 {N3:10} ,output - 88
Student tickets cost N2 each and TO+T1=T2 input - {NO:4} {N1:1},{N2:9} {N3:6} ,output
adult tickets cost N3 each. How -42
much did the museum tickets cost in input - {NO:1} {N1:9} {N2:7},
all? {N3:10} ,output - 97
input - {NO:2} {N1:8},{N2:4} {N3:9} ,output
- 80
input - {NO:5} {N1:10},{N2:10},
{N3:8},output - 130
Scarlett always takes the same route | NO+N1+N2=T0 input - {N0:6} ,{N1:9},{N2:10}, T
when she walks her dog First she N3*T0=T1 {N3:1},output - 25
walks NO blocks to the park Then input - {NO:5} {N1:4},{N2:3} {N3:8} ,output
she walks N1 blocks to the - 96
elementary school Finally she input - {NO:10} {N1:6} ,{N2:9},
walks N2 blocks to get back home {N3:10} ,output - 250
Scarlett walks her dog N3 times input - {NO:2} {N1:9} {N2:1},{N3:2} ,output
each day How many blocks does -24
Scarlett's dog walk each day? input - {NO:8} {N1:6},{N2:5},
{N3:10} ,output - 190
Owen had NO toy cars Then he NO+N1+N2=T0 input - {N0:2},{N1:1} {N2:7} {N3:3}, EAD=A
bought N1 cars from the toy store N3+N4=T1 {N4:4} output - 3 T ADFEIC
and got N2 cars for his birthday TO-T1=T2 input - {N0:4} {N1:9} ,{N2:6} {N3:8}, 7e % ARtk
Owen gave N3 of the toy cars to his {N4:1},output - 10 NHh 3

sister and N4 to his friend Abby
How many toy cars does Owen have
left?

input - {NO:3} {N1:3} {N2:10},{N3:10},
{N4:7} ,output - -1

input - {NO:9} {N1:3},{N2:8} {N3:10},
{N4:5} output - 5

input - {NO:10} {N1:7} {N2:4} {N3:6},
{N4:4} output - 11
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6 | The baseball coach bought N1 new | NI1*N1=T0 input - {N1:1} {N2:6} {N3:3} output - 17 IR 3
baseballs for N1 each. The N2*N3=T1 input - {N1:9} ,{N2:10},{N3:8} output - -1 ARFIINO
basketball coach bought N2 new T1-TO=T2 input - {N1:8} ,{N2:8},{N3:9} output - 8 ch b
basketballs for N3 each. How much input - {N1:1},{N2:2} {N3:8} output - 15
more did the basketball coach spend input - {N1:5},{N2:9} {N3:6} ,output - 29
than the baseball coach?

7 | The adventure club went on a hike | NI*N2=T0 input - {N0:9} {N1:4} {N2:9} output - 52 TR A
to see a waterfall. To get to the hike | N1*N3=T1 input - {NO:1},{N1:6} {N2:7},output - 78 Ak 1XNO
the club members took N1 cars and | TO+T1=T2 input - {NO:7} ,{N1:5},{N2:7} ,output - 60 2% 3
N1 vans. There were N2 people in input - {NO:7} {N1:7} {N2:7} ,output - 98
each car and N3 people in each van. input - {NO:8} {N1:5} {N2:2} output - 35
How many people went on the hike?

8 | Damon can buy bottles of water in | N4/NO=T0 input - {NO:7} {N1:3} {N2:2} {N3:4}, TR B3
packages of NO for N1 or in NO*NI1=T1 {N4:10},output - -1.0 Ak 1XTO
packages of N2 for N3 How much | N4/N2=T2 input - {N0:6} ,{N1:4} {N2:6} {N3:6}, DEIZ 72 5
money does he save by buying N4 T2*N3=T3 {N4:8} output - -16.0
bottles of water at the better price? T3-T1=T4 input - {NO:8} {N1:8},{N2:8} {N3:2},

{N4:3} output - -63.25

input - {NO:2} {N1:5} {N2:8} {N3:2},
{N4:10} output - -7.5

input - {NO:4} {N1:3},{N2:8} {N3:10},
{N4:2} output - -9.5

9 | Mario and Anne order pasta for NO. | NO+N1+N3+N3=TO | input - {NO:3} {N1:2},{N2:3} {N3:1}, EAD=A
salad for N1 and N2 glasses of TO+N4=T1 {N4:10} {N5:1},output - -16 FADAEIC
lemonade for N3 each. The tax is N4 | N5-T1=T2 input - {N0:6} {N1:5} {N2:1},{N3:10}, 7% % AlRg
How much change should they get {N4:2} ,{N5:8} output - -25 nH 3
from N5? input - {NO:9} {N1:9} {N2:10} ,{N3:1},

{N4:2} {N5:5} output - -17
input - {NO:8} {N1:8},{N2:7} {N3:8},
{N4:6} ,{N5:9} output - -29
input - {NO:9} {N1:2} {N2:4} {N3:3},
{N4:4} {N5:8} output - -13

10 | William bought N2 packages of cat | N2*N2=T0 input - {N2:8} {N3:3} output - 55 IR ST DY
food and N3 packages of dog food. | N3*N3=T1 input - {N2:8},{N3:3} output - 55 KEkzNZ
Each package of cat food contained | TO-T1=T2 input - {N2:8},{N3:9} output - -17 4INO & N1
N2 cans and each package of dog input - {N2:4} {N3:9} output - -65 i b

food contained N3 cans. How many
more cans of cat food than dog food
did William buy?

input - {N2:3} {N3:10},output - -91
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